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Core 4 Binomial Questions

(1) Obtain the binomial expansion of (1 — x)_' up to and including the term in x2.
(2 marks)
(11) Hence, or otherwise, show that
1 1 +2 n 4 5
N-+—x+—x
3—-2x 3 9 27
for small values of x. (3 marks)
Obtain the binomial expansion of 5 up to and including the term in x2.
(I—x (2 marks)
2x? -3 A B C
Given that l 5 can be written in the form + + 7
(3 —2x)(1 —x)° 3-2x) (1-x) (1-x)°
find the values of 4, B and C. (5 marks)
. . . 2x2 -3 . .
Hence find the binomial expansion of 5 up to and including the term
; 3-2x)(1 —x)°
n x~. (3 marks)
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(¢)

(d)

Obtain the binomial expansion of (1 — .\‘)—3 up to and including the term in x2.

(2 marks)

-3
Hence obtain the binomial expansion of <1 — 5.\') up to and including the term

inx2. (2 marks)

-3
Find the range of values of x for which the binomial expansion of ( 1 — 5X would

be valid. 2 marks)

3
Given that x 1s small, show that (2 ) ~ a-+ bx + c.\‘z, where a, b and ¢ are

— 5x
integers. (2 marks)




1
5 (a) Find the binomial expansion of (1 + x)3 up to the term in x2 (2 marks)

1
(b) (1) Show that (8 + 3x)3 ~ 2+ 4lx — %xz for small values of x. (3 marks)
(11) Hence show that \3/5 ~ % (2 marks)
2 (a) (i) Find the binomial expansion of (1 +x)_l up to the term in X3, (2 marks)

(i) Hence, or otherwise, obtain the binomial expansion of up to the term

+ 35X
in x3. (2 marks)
1+4 ) e
(b) Express i in partial fractions. (3 marks)
(1+x)(1+3x)

(¢) (1) Find the binomial expansion of 1 +4 to the term in x3 (3 ks)
C 1 nc inomial expansion ¢ up tc 'm in x° . marks
P 0 +x00 +3x) P

(11) Find the range of values of x for which the binomial expansion of
1 + 4
T s valid. (2 marks)

(1 +x)(1 +3x)




